In a set of 2n distinct observations, each of the observations below the
median of all the observations is increased by 5 and each of the
remaining observations is decreased by 3. Then the mean of the new
set of observations:
[ Main Online April 9, 2014]
(a) 1ncreases by 1
(b) decreases by 1
(¢c) decreases by 2
(d) increases by 2

(a) There are 2n observations x,, X,, ..., X,,
2n
So, mean = Z—

_ﬂ'
i=l

Let these observations be divided into two parts x,, x,, ..., x, and x__,, ... X,

I

Each in 1¥ part 5 is added, so total of first part is Z,r,- +5n.
i=1

In second part 3 is subtracted from each

2n
So. total of second part is Z xX; —3n
i=n+l
Total of 2»n terms are
Pl 2n 2n

Zx,— +5n+ Z X;—3n= Zx!- +2n

i=1 i=n+l i=l1

2n

Mean = Z
i=1 i=I
So, it increase b}r 1.




